
Questionnaire	
  :	
  Le	
  squelette	
  et	
  les	
  articulations	
  
	
  
	
  
Question	
  1	
  :	
  
Combien	
  d’os	
  possède	
  le	
  corps	
  humain	
  ?	
  	
  
	
  

□	
 155	
  os	
  
□	
 206	
  os	
  
□	
 237	
  os	
  	
  

	
  
	
  
Question	
  2	
  :	
  
Combien	
  y	
  a-­‐t-­‐il	
  de	
  groupes	
  d’os	
  dans	
  le	
  squelette	
  humain	
  ?	
  	
  
	
  

□	
 6	
  groupes	
  d’os	
  
□	
 4	
  groupes	
  d’os	
  	
  
□	
 8	
  groupes	
  d’os	
  	
  

	
  
	
  
Question	
  3	
  :	
  	
  
A	
  quoi	
  servent	
  les	
  os	
  ?	
  	
  
	
  

□	
 Ils	
  servent	
  à	
  protéger	
  les	
  organes	
  	
  
□	
 Ils	
  servent	
  à	
  protéger	
  les	
  articulations	
  	
  
□	
 Ils	
  servent	
  à	
  protéger	
  les	
  muscles	
  	
  

	
  
	
  
Question	
  4	
  :	
  
Jusqu’à	
  quel	
  âge	
  les	
  os	
  peuvent-­‐ils	
  grandir	
  ?	
  
	
  

□	
 15	
  ans	
  
□	
 18	
  ans	
  	
  
□	
 20	
  ans	
  	
  

	
  
	
  
Question	
  5	
  :	
  	
  
Comment	
  appelle-­‐t-­‐on	
  un	
  os	
  «	
  cassé	
  »	
  ?	
  
	
  

□	
 Une	
  tendinite	
  
□	
 Une	
  fracture	
  
□	
 Une	
  entorse	
  



	
  
	
  
Question	
  6	
  :	
  	
  
Que	
  permettent	
  les	
  articulations	
  ?	
  
	
  

□	
 Elles	
  relient	
  les	
  os	
  aux	
  muscles	
  pour	
  éviter	
  qu’ils	
  cassent	
  	
  
□	
 Elles	
  relient	
  les	
  muscles	
  entre	
  eux	
  et	
  les	
  alimentent	
  
□	
 Elles	
  relient	
  les	
  os	
  et	
  permettent	
  de	
  bouger	
  	
  

	
  
	
  
Question	
  7	
  :	
  	
  
A	
  quoi	
  correspond	
  cette	
  définition	
  :	
  «	
  Je	
  suis	
  une	
  articulation	
  qui	
  permet	
  de	
  
bouger	
  dans	
  plusieurs	
  directions	
  »	
  ?	
  	
  
	
  

□	
 Je	
  suis	
  une	
  articulation	
  de	
  type	
  pivot	
  
□	
 Je	
  suis	
  une	
  articulation	
  de	
  type	
  charnière	
  
□	
 Je	
  suis	
  une	
  articulation	
  de	
  type	
  rotative	
  

	
  
	
  
Question	
  8	
  :	
  	
  
Quelle	
  articulation	
  est	
  de	
  type	
  charnière	
  ?	
  	
  
	
  

□	
 L’épaule	
  	
  
□	
 La	
  hanche	
  	
  
□	
 Le	
  genou	
  	
  

	
  
	
  
Question	
  9	
  :	
  	
  
Quelle	
  articulation	
  est	
  de	
  type	
  pivot	
  ?	
  	
  
	
  

□	
 Le	
  coude	
  
□	
 La	
  cheville	
  
□	
 Le	
  genou	
  

	
  
	
  
Question	
  10	
  :	
  	
  	
  
Quel	
  liquide	
  empêche	
  les	
  articulations	
  de	
  se	
  coincer	
  ?	
  	
  
	
  

□	
 La	
  synovie	
  
□	
 Le	
  sang	
  
□	
 Le	
  liquide	
  amniotique	
  	
  



	
  


